




























































QID: 88 -

What is the value of s! + 7 � + 8�?2 4 8 

Options: 
1) 173/8 
2) 171/8 
3) 81/4 
4) 87/4 

Co1Ted Answer: 173/8 
Candidate Answer: 171/8 

QID : 89 - For what value of N, 43N is divisible by 9? 

N ir. firn ,;r;rir, ful:,; 43N, 9 � f1Nroq- t? 

Options: 
1) 1 
2) 2 

3)3 
4)7 

Co1Ted Answer: 2 

Candidate Answer: 2 

QID: 90 -

What is the value of (O.Sx O.Sx 0.6)+ (0 5x0.5x0.5)?
(0,6 >< 0 .. 6} + (0,5>< 0,5) -0.3 

(0.6x0.6x0.6)+(0.5x0.5x0.5) mT a:ir.; sRl'T i?
(0.6 X 0.6)+ (Q.5x 0.5)-0.3 

Options: 
1) 0.1 
2) 1.1 
3) 0.9 
4) 1.2 

Co1Ted Answer: 1.1 

Candidate Answer: 0.1 

QID : 91 - If 90 is subtracted lbrm 70% of a, :moc · �e, the result is 120. What is the value of the number? 

Options: 
1) 300 
2) 150 
3) 4 50 
4) 270 

Co1Ted Answer: 300 
Candidate Answer: 300 

QID : 92 - The ratio of copper and zinc in brass is 11 : 14. How much amount (ir, kg) of copper will be there in 150 kg of brass? 

mr<-Tlf<ITTt<Nramr'f.T� 11: 14 i, 150 i;r,.m. mr<-r11'ffi'itif.T lW-IT (fll:-.m.11') fii:o'ft�? 

Options: 
1) 44
2)84 

3) 66
4)78

Corred Answer: 66 

Candidate Answer: 44 

QID : 93 - What is average of first 8 even numbers? 


